PHENIX crossing angle

. APEX, May 20, fill # 19083.

* With proton and Au at proton injection, we
changed IR12 angle first as a test, then

changed IR8 ang

 The crossing ang
to 0.002 mrad.

e.
e changed from -0.0014 mrad



2 mrad crossing angle at IR8

pAul5-store-PHENIX.xml -- Crossing Dipole Designer

Beam Trajectory through Crossing Dipoles for IP8
Species: blue = Polarized Proton yellow = Gold
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Position [m]

POOCH+ = Ba x=-2.61419 y=0.0931122

Penalty = 7.32077596993e-25
Dipole List | BeamLine Local Constraints | | Fit Dipoles

Blue: Circumference = 3833.85502846m RF Frequency = 28.1494460329MHz
Yellow: Circumference = 3833.83811404m RF Frequency = 28.1494413213MHz

Open Save [ Beam Fit All Dipoles | ' Quit



6 by 6 store for PHENIX run

Machine development, May 21, Fill # 19090
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The Blue beam angle for this store is 2.22 mrad, the Yellow beam angle is 4.22 mrad,
therefore the crossing angle is 2 mrad. The Yellow beam offset at DX BPMs is 4.22
mrad*8.3 m=35 mm. The DX BPMs was moved with DX magnets by 25 mm, therefore
they reported +/- 10 mm.
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Some notes

e Collision rate at PHENIX was 1/3 of that at
STAR.

» Background was mild per KAD.

* For fewer bunches store, the gain of SC cooling
should be reduced. (6 by 6 store, longitudinal
25, horizontal 28.)
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